AR (axxtb) 2=0/82—2> No.1l DRE

1. RO _RITRREE 730,

(1) 922 — 242 +16 =0

(2) 1622 +242+9=0

(3) 2522 +20x+4=0

(4) 2522 —302+9=0

(5) 1622 —162+4=0

(6) 922 +122+4=0

(7) 2522 — 402 +16=0

(8) 2522 —50x +25=0

(9) 1622 +16z+4=0

(10) 1622 —242+9=0

. xz—%
. x:%

Ko ox=1
. xz—%
. x:%



AKX (axxtb) 2=0/82—2> No.2DRE

1. yka):ykji%%ﬁ%ﬁﬁ%fétéb\o (6) 25x2_20x+4:0
(1) 1622 +16z+4=0
1
% — 4
we D (7) 422 + 20z + 25 = 0
(2) 922 —6z+1=0
g op= L
3 (8) 1622 + 40z +25 =0
(3) 42 +4x+1=0
3 x:—%
(9) 922 +122+4=0
(4) 422 — 202 +25=0 z r
Me o O
=. L 2
(5) 922 — 122 +4=0 (10) 2522 =502 +25=0
‘3 x:%

. x:%
%. m:—%
. xz—%
%. m:—%

K. or=1



ZRARRRK< (axxtb) 2=0/82—2> No.3DRE

1. RO ZRFBRERE RS0, (6) 2522 4+30x+9=0
(1) 422 —162+16=0
How=2 (1) 42 +42+1=0
(2) 2522 —-302+9=0
. z=3
o (8) 2522 —40x +16 =0
(3) 2522 =50z +25=0
E.orx=1
(9) 1622 4+82+1=0
(4) 162%> —322+16=0
XK or=1
2 _
(5) 422 +20z4+25=0 (10) 922 +30x+25=0
N
. T 2

3



ZRARRRK< (axxtb) 2=0/82—2> No.4DRE

1. RO _RITRREE 730,

(1) 1622 — 402 +25=0

(2) 422 —162+16=0

(3) 2522 +20x+4=0

(4) 162> —242+9=0

(5) 922 —182+9=0

. x:%

E.ox=2
. x:f%
. x:%

(6) 42> —8x+4=0

(7) 1622 —162+4=0

(8) 922 +242+16=0

(9) 2522 —302+9=0

(10) 42> +4x+1=0

.o ox=1

4

& ox=———
3



ZRARRRK< (axxtb) 2=0/82—2> No.b DRE

1. KO ZKFBRAEME 2 S0, ©) 252 — 300490
(1) 922 —182+9=0
& oo=1 (1) 922 +3024+25=0
(2) 922 +6x+1=0
. r=—-L
3 (8) 2502 — 10z +1=0
(3) 922 —2424+16=0
%, x:%
(9) 1622 +24z4+9=0
(4) 1622 +40x+25=0
5
/K = —_———
=. T 4 2
10) 4 20z +25 =0
(5) 25224+ 10z +1=0 (10) 4z2 + 20z +
1
X - ——
=. T 5

¥



